213 9] gt& Agk 5k, VB = 1.552 4 wf, A, B 9] H& vt 3t
AL?
T 0 1 2 3
2.0 1,414 1,418 1,421 1,425
2.1 1.449 1,453 1.456 1.459
2.2 | 1,483 1,487 1,490 1,493
2.3 1,517 1.520 1.523 1.526
2.4 | 1,549 1.552 1.556 1.559
@® A:1.517,B: 2.32 @ A:1.517,B: 2.41
® A:1.459,B:2.41 @ A:1.459,B:2.33

® A:1.414,B:2.03
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p=V3+V5,qg=V3-2,r=+5+2

® A=p, B=gqg, C=r @ A=qg, B=p, C=r

® A=gqg, B=p, D=r @ B=p, C=¢q, D=r

® B=r, C=p, D=g



0 1 2 3 4

3.0 [ 1,732 1,735 | 1,738 | 1,741 | 1,744
4.0 12.000]2.002|2.005|2.007| 2.010
5.0 12,230|2,238 | 2,241 | 2,243 | 2,245

@© 44.72 @ 34.64 ® 34.70 @ 34.76 ® 44.76






